DO NOW

Solve: 2x° —x =15
2 x-15=0
<2X+ B\f\X'EBZO
I2x+5=0 o= X-3=0
2x::g> X=3
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1. The product of an integer and 7 less than 3 times
the mteger is 20. Find the integer.

let %= |'n+e,5€r
%(3x=7)=20
x=Tx=20
HE-Tx-20=0

Bres)x-4)=0

v+5:=0 or X-4=0
Bx="5 x=4
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3. Find three consecutive integers such that the product of
the second and the third, dereased by 4 times the second
is 5 more than 5 times the first.

leb x= It consecuctive integer
X+|=2nd
x+2=3™

Cxr Yo 2) =4 e =Px+5

Yi2x+x +2 —Ux -4 =5x +5

Ko+ 20X+ 2-Ux4-5x-5=0
x*—tx —1=0

=1 Yx+1)=0

')(—7:0 OR X“'):O 7)8,q or "\]O'i

X=7 { ="\
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X+1=§ ( X+l=0
X+2=Q | Xv2=
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8.3 Word Problems
Recall: Consecutive Integer Problems

Consecutive in{egers =X, XF{ X2 ..

Consecutive even in-lfﬁus =X, x+2,x+Y...

Consecutive odd M‘l-e‘-rjgrs =X X+2,x+4,..

Area Formulas

A= Jw
Ag=s
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2. The smaller of two positive integers is 3 less than the
larger. If twice the square of the larger is increased by
three times the smaller, the result is 56. Find the smaller

integer.  lef x = [arga- #
X~3 =Smaller ¥
292+ 30-)=56
2x*+3x-9= 506 3
2%¢*+3x-9-5=0 x-
2% +3x~ 6520 5;’
<2>< +|3XX— 5>: O
2x+13=) or X~ 5=0
=5

The smaller
i(\’mcj&r Vs 2
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4. Thelength of a rectangle is 2 cm more than 3 times the
width. The area is 16 cm?. Find the length and width.

I@+ A= width 2
3x+2:!engkh Ao X
_\\

/QW:A 3’6‘}‘2
x(3x+2)=1b
S 2x=10
(3x+8)(x-2)=0 3&3 2
8= ok X-2=0 (¥3
?)X: ‘8 =2
X_—_—g_
A 2 ‘(’,T\apf\: %(/m
h%:;;ive width= dem
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5. Jose throws a ball into the air with an initial velocity of 48 feet
per second, from a height of 5 feet above the ground. If the
function Mrepresems the height, /(7), in
feet, and 7, the time in seconds, W is the

ball at a height of 37 foet? Finp +
h(t)=37

hE)=—1bt248E+5
BJ7="lt*+4&t+5
bt -4t +37-5=0
Jbt-4$t+32.=0
o (£2-3t42)=0
o (£-DY&-N=0O
b0 +2=0 or t-l=
t=2 +=)
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HOMEWORK

Worksheet - HW 8.3 - Word Problems
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